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14 3 19
20 3 25
19 1,630 MW 24
2, 500MW
21
1/3 172
21
t/ "

100 12
100 150 14
150 200 15.5
200 300 17
300 450 18.5
450 600 20
600 800 21
800 1000 22
1000 1400 23
1400 1800 24
1800 25
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15.5 150 7/ 200 /

3
5, 000KW
2, 000KW 20
15.5
1 - 2
12,500kJ/kg 170 / 88,500, 000kJ/ 5,000k

1 70.0 4 98.0

2 70.0 5 96.0

3 45.0 6 - 20.7

1 23 24
23
15,200kJ/kg
2 + 3,600[J/Wh] x
(€))
(D)
5, 000KW
3 66,000V
154,000V 2
6,000V
5, 000KW




5,000kw
2,000 3,000kw
(€
1 6,000 33,000 66,000 154,000
2,000 10,000
2 kw 2,000 50,000
10,000 50,000
(6)
1 1,990kw 5,000kWw
2 7,000,000 kWwh/ 23,000,000 kwh/
3 2 1,100
20
4 2,000kW 10,000kW
5,000kW
. 15.5 150 / 200 /
170 /
6
(
33,000V
2,000kWw-10,000kW
7 6,000 V 66,000V
10, 000kW-50,000kW
154,000 V 50,000kW
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5.3.5
20 () @ ®
5-20
10,800,000 8,000,000 12,200,000 9,750,000
8,993,222 7,077,821 8,910,718 7,947,169
4,320,000 3,650,060 1,071,908 1,866,900
1,205,661 936,394 1,109,131 978,203
25,318,883 19,664,275 23,291,757 20,542,272
5.3.6
5-21
15 150 120 150 120
(1)
5 50 30 40 30
15 150 20 120 90
(2) 5 50 50 40 50
1
5 50 50 40 50
5 50 50 50 50
(3)
15 150 150 150 150
(4) 5 50 50 40 40
1 70 700 59.0 63.0 58.0
(1) 5 50 50 50 50
2 @ 5 50 50 50 50
(3) 15 150 150 150 150
2 25 250 250 250 250
(1) 15 150 150 150 150
3
(2) 10 100 100 100 100
3 25 250 25,0 250 250
@ 5 50 40 40 40
¢ @ 5 50 50 50 50
4 10 10.0 9.0 9.0 9.0
(1)
s (2) 15 120 150 120 150
(3)
5 15 120 150 120 150
130 130.0 118.0 122.0 117.0
A =100 B =80 C =60 100% 91% 94% 90%
145 142.0 133.0 134.0 1320
98% 9% 92% 9%




FIT 3
1
1
FIT
FIT
kv/ /
FIT mG uT 1y T 10mG
50 2
1 5,000 kw
2 20,352,000 kWh | 66,000 V kv/ mG
3 50 1 3.0 20.0 1 3cm 20 530
4 | FIT 50 50 2 0.1 3.0 2 1 200
5 | FIT 50 FIT 3 0.1 3 2.5cm 110 190
FIT 17.85 /kWh 4| WHO 10 WHO
4 5,000
20 5 3 [
FIT 5.7 /KWh 3
5.92 /kWh 24 10
2,800 /
50 60
100 50 40 30 0
4
1 17.85 8.93 7.14 5.36 0
3 kV/m
FIT 50 50 50 0 0
200 mG
2 |FIT 50 50 50 0 0
3 0 0 0 100 100
4 2.0 1.2 1.0 0.9 0.9
30 FIT
5.92 2
50
FIT Feed in Tariff
60
20
20

FIT
9,000




	

